DO NOT OPEN THI: _
S TEST BOOKLET UNTIL yOU ARE TOLD TO DO SO

o —

Test Booklet Serieg

~5.C. : XDTG-S-DNK

TEST BOOKLET

GENERAL STUDIES
PAPER - II -

Maximum Marks : 209

—

Time Allowed : Two Hours

INSTRUCTIONS
I Mh{EDIATELY AFT }fJPR THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK Tﬂn
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS

ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
at it is the candidate’s responsibility to encode and fill in the Roll Number and Test

Please note th Cade &
Booklet Series Code B, C or D carefully and without an issi i
] ¢ y omission or discrepancy at the

appropriate places in the OMR Answer Sheet. Any omissi i i Answer
S e for g 710 omission/discrepancy will render the
3. You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.
pO NOT write anything else on the Test Booklet.

This Test Booklet contains 80 items (questions). E
ponse, mark the

4.
Each itemi ises four res es_(ans ). You
on the AHW fe Te
response W con n a (0) each item.
You have to mark all your responses ONLY on the separa d. See directions

5.
in the Answer Sheet:

All items carry equed Thatks; v :

7.  Before you procqed ‘to mar. in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. .

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should ;:and over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet. :

Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers : _

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN ALL THE
ion. For each question for which a

QUESTIONS.:
e answer to every quest
e-third of the marks assigned to that

o

acp item is printed both in Hindi and English.
will select the response which you want to mark

=

(i) There are four alternatives for th
wrong answer has been given by the candidate, on
question will be deducted as penalty.
it will be treated as a wrong answer even if one of
bove to that

ne answer,
] be same penalty as a

(ii) If a candidate gives more than o
be correct and there wil

the given answers happens to
e question. :
(iii) If a question is left blank, i.e., no/answer is given by the candidate, there will be no P"?‘“’ for :

that question. ,
DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 70 DO SO
RN |

ST ; 7ed] 1 [ SR 36 greashl $ ¥ 79
XDTG-S-DNK -8 ¥ &
¥ r i

Scanned with CamScanner
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solid waste is inexpensive:
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at gource 1S rare. QI P e e for mumClP
nmrmal sector. N i :n::;a ergy
mumclpal bu‘l8° ¥ . lid waste »
tranﬁpcl'tat‘ono (¢) Segregation of municipal 50 of
| q;.m step in ensuring the success
il wm-to-enersy ' plants.
' The biodegradable comporen® of Indis®
i mnimpal solid waste is not adequate 0
A energy from waste
B efficiently/effectively.
‘ - Passage -2
non-biodegradable, : , o . R
value. The biodeg  Indig’s | o4 s cdlaim that organic farming is
municipal solid ,\ | e fnd pealthicr. The reality 3=
and biomethanaggly off for((| |tHat be the ¢ industry is
B ] till young ted in India,

processing this.

VOUI‘ UPSL JOUrneV best for them,
oducts in ways that could

1. Based on the

assumptions have b
) it

r‘example, since organic
1lt to obtain on a large scale
en use farmyard manure,

1. Collection, pre
-

municipal

government‘
Resource rec b1 wh ontain toxic chemicals and heavy
technologice .t A ? .

! o | als. ain plant sprays, such as Datura

w, have an element called
not applied in the right dose, it

Wuu& q?tam of the consumer.
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: Passage - 3
Elephants are landscape o 16. Ifp, q, r and s are distinet singl® digit P%° " ¢
ing cleari : architects, numbers, then what is th ,ates! valu
- ngs in the forest, preventing (p+ q) ' )? y . baddl
‘TOWth f H . i - i q r+ 8yt
g of certain plant species and allowing @ 230
y or the regeneration of others, which in turn _j' () 225
yide sustenance to other herbivorous animals. (0 224
hant.s eat plants, fruits and seeds, | d 221
agating the seeds when they defecate in other r It
es as they travel. Elephant d 4o TR cnig B2
rishment to plants and pmiiad ung provides (1% A number N is formed ") it °\ i
! -s animals and acts asa |. 99 times. What is the remainde’ l
eding ground for insects. In times of drought, ‘:',c‘ ~ divided by 137
y access water by digging holes which benefits 1% A
er wildlife. ; ;f:’c’ 4 ‘(a) b
. R
Which one of the following statements besE L KEHEEE
reflects the most logical and rational inference f j (d): iy
that can be drawn from the passage ? L B 5l A
(a) The home range of elephants needs to be 18. Each digit iy b—di . number 1. It 18
a vast area of rich biodiversity. ' multiplied by itself. \grlhat is the sum of the
(b) Elephants are the keystone species and ~ digits of the resulting number ?
they be tP iV : |
§ j y B E B ,
(c) Ric iversit ained | P s(c o
in the for%%§§ w1t out - ) Q1 ‘ |
e]ephants.’ - ;‘f' ‘.‘ i s a8 Ko ‘ oul o I d '
) FElephants ale. cupable LE rees ng| JPSC‘
forests with  species as per ,'l;; s gt Journ y ‘
requirement- 119, 'What is the sum o all digits which appear 17
all the integers from 10 to 100 ?
If7@9®10=8,9®11€930=5’ . (a) 855
110176 21= 13, what is the value of ) 856
3asels? © 910
(b 8 ;
(c) 13 |99. ABCDis a square. One point on each of AB
@ 15 ~ and CD; and two distinct points on each of BC
S . iiand DA, 87° chosen. How many distinct
Let x be @ positive integer such ;hat 7:; + 96 a:: i ?5,' B igios con be drawn using any three points
How many Va ues of x ar€ B oriices "t of these six points ?

divisible by %

1 ? o’
" o g W °
Z) 11 B w i
< o LYo 20
(c) 12 o iy

i '.l p A 1 ’,'5 (d) 24

) Infinitely many e B

Scanned with CamScanner



Directions for the following 3 (three) items :
Read the following :

: three passages and answer the
I.temsw follow the passages. Your answers to these
ttems should be baseq o, the passages only.

Passage - 1

The emissions humang put into the

atmosphere now will affect the climate in the
middle of the century and onwards, ‘
change, meanwhile,
tra.nsition away from

Technological
could make a future

fossil fyuels cheap or it
might not, leaving the world with a terxribl(_;

choice between sharply reducing emissions at
huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge
against the threat of uncertain outcomes fail. The
world cannot afford such recklessness on climate
change.

di'ﬂ"erencc between life and d

Environmental problems
problems; Substantial chang
reduce environmental or he
this idea appears almost im
With environmental problems ,
can be perceived as having a ne
‘therefore lead to inertia. Wi

other hand, individual choices

" IPICPRE
refl cial yed 'by
author of the: i TS A ]
(a) o :
future. It is the job of ﬁ% gover:
(b) The only solution is technological °“Iblenv“°nmen§‘l and L
development related to the issues of problems.
climate change. () Health can be ! 5
(¢) Waiting to deal with carbon emissions Rivilmental - gl
until technology improves is not a wise S N
o | 4 (d) Loss of traditional I‘
ical change 18
' ture Jgnologict i f western valy
(d) Since fu industries should be influence o ‘
| rtain, new unhealthy ways of living.
bu::ed | renewable energy OUrCes. _ :
ed on
| (13-B)
XDTG-S-DNK
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Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-e_ommunicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous dlets that
do not provide the daily nutnents ﬁr them to

25.

Somewhere w
fork, there are : n
"
23. Which one. of th glmpl!fy \V/
reflects the crux of the passage ?
(a) The scheme of Uni
should be implemr
way of poverty allevia s
(b) We must place food
the centre of our po
(c) Nutntlonél status of
improved by
genetically modified crops.
(d) Using :
‘; technologies, we must I
with required nutrient eler
o8Nk 'ai} -' (15-8B)
g

24,

; T and 2 only; gf<] L SRR

(0

Three of the five positive inte
are even and two of them
necessarily in order). Consider §

L p+q+r-s-t isdefinil
2. 2p+q+2r-2s+t isdel

Which of the above stateme

(a) 1only

(b) 2only

(c) Both1and2
(d)

Neither 1 nor 2

Consider the following in

L p+c¢
p—-°C

2. 2p+ccanbeoddﬂt‘

can be even. A

2 and 3 only

1
MRS IV, R

1 and 3 only

@ 1,2and3  SEIESEN

A 3-digit number ABC, on multipl;
D gives 37DD where A, B, C |
different non-zero digits. What is ; {

A+B+C?
(a) 18

(b) 16

(¢ 15

(d) Cannot
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217.

. -ﬁ, Consider the following statements :

e

; .Igurmunded by other cubes from each side ?

@ 27
w
© 21
@ 18
A

v l.lone works on Monday, B alone works on

9. The work will be finished in 10 days.

For any choices of values of X, Y and Z, the

6-digit number of the form XYZXYZ is
divisible by :

(a) 7and 11 only
(b) 11 and 13 only
(¢) 7and 13 only
ﬂ) 7,11 and 13

125 ldentlcal cubes are arranged in the form of
o cublcal block. How many cubes are

distinct 8-digit numbers can be
rearranging the digits of the
23344 such that odd digits occupy

PSCP

B, C working independently can do a piece
‘work in 8, 16 and 12 days respectively. A

Tuesday, C alone works on Wednesday; A
‘alone, again works on Thursday ‘and so on.

1. The work will be finished on Thursday.

Which of the above statements is/are correct ?

(a) 1enly
(b)) Z2only
" (¢ Bothland2
(d) Neither 1 nor 2
(17 =

XDTG-S-DNK
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Directions for the following 3 (#
s | Read the following three paﬂ‘!w
items that follow the passages. Your
items should be based on the passa .'

Passage = 1

We often hear
different States in India over ri
20 major river systems, 1
water-stressed; 76% of the pop%
water-stressed regions, a third ok
water-scarce areas. Climate change
of rising population and the need
to keep pace, and increased rate 0
and industrialization will exace
stress. According to the Constitut
water is a State subject and not i
Union, except for regulation of inter-3
Key to ensuring balance between €0
demands of various stakeholders is a b
approach to allocate water among' (
regions and States. Allocating fair sk

g quires_assessments based
eﬂﬁ &NI\

Which one of the ﬁilloming staterm it
reflects the most rational, pract i

immediate action required to ensure
equitable allocation of water to
stakeholders ?

A national, pragmatlc, legal

about

(a)
framework for water allocat
be made. :
(b)  All river systems of the o
be linked and huge aquifer.
(¢0 Water channels between
water surplus and regig
deficit should be created. ‘}\.
(d) X |

To mitigate water crisis, w:
of sectors such as agricu
industry should be reduced.

B)

AR AN

J “'I ek Sl
4 5@‘ (L M o ¢
’\ LRI Y 4 }
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Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer
from anaemia. According to studies, they are

anywhere from 5 — 159 |egs productive than they

could be, as a result thereof India also has the
largest tuberculosis burden in the world, costing
170 fnillion workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
e@:iﬁve ability, malnourished Indian children
perform two or three times worse than their
aﬁquately nourished peers. For an economy that
wm be more dependent on highly skilled
workers, this poses a significant challenge. And it

\

is'- one that really should be addressed given

Large scale and effective

implementation of skill development

" programme is the need of the hour.
‘!; T
;\w _t .
s -‘h For economic development, health and

'?'”‘ nutrition of only skilled workers needs

~ special attention.

() For rapid economic growth as envisaged

by us, attention should be plud to health

and nutrition of the people..

XDTG-S-DNK

to climate change depends on

(19-B)

14

i
Passage - 3 .,_5.1{

In India, a majority '
marginal and small, less
possess low adaptive capabi : oS
change, perhaps because o[ ,
constraints. So, one r
autonomous adaptation to «
Even if it was possible, it
sufficient to offset losses °
change. To deal with this,
climate change is paramoun
fast mitigation response. Anothe
to have
adaptation,

¢
F

a planned or
which  would
government to come up ‘.
recommendations. Perception i8 E:
pre-requisite = for adaptahoxg

farmers are adapting agricultur

perceive it or not. However, this is
ul #

r ad tion is.d

ercelves tl @

ehal

conveyed by the aumhon: of the pass:

(a) Adaptation ’to' “climate ~:,'; "
mitigation response are '
responsxblhtles of the gove

(b) Climate change causes
government policies regs
pattems in the country,

(¢) Risk perceptions of
important for mot.w
taking adaptahon deci ,‘}

(d) Since mitigation ia
governments should ;""‘
policies for quick res L
change.
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34. Raj has ten pairs of red, nine pairs of white [37. What is the remainder wh
and eight pairs of black shoes in a box. If he 85 x 87 x 89 x 91 x 95 x 9@ J
randomly picks shoes one by one (without ‘
replacement) from the box to get a red paxfgf w. .
shoes to wear, what is the maximum num »" ; (b)

of attempts he has to make ? (c)
(a) 27 ' (d)
(b) 36 ]
() 44 What is the unit digit i )
@ 45 (57242 IES1 2 i

(a) 2

35. In how many ways can a batsman sco

~ exactly 25 runs by scoring single runs, fours i) b) %
and sixes only, irrespective of the sequence o & © 6
~ scoring shots ? : @ 8
gﬁ»@, 18 i

If ABC and DEF are both
such that W B, ey I
~ distinct non-zero 1(hgits :

1. It is possible that exactly one letter goes
into an incorrect envelope.

_ 2. There are only six ways in which only

two letters can go into ‘the correct is the dﬁemnce}"btween |

; -E{‘ t\‘ envelopes. hundl‘eds pla.oe 'A "1
‘I 'al i ; f 4
\_,{ e,Whlch of the statements ngen above is/are place of D?

mect? ; ; , (a’)‘ 0
() 1 only | (bi‘ s 7
R ey R @8
() Bothland?2 i . -(d) :
(@ Neither 1nor2 g
XDTG-S-DNK ¥y
V' ‘3
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Directions for the following 3 ( three) items -

Read the following three passages and answer the
items that follow the j)assages. Your answers to these
items should be based on the passages only.

Passage - 1

In India, while the unemployment rate is a

the economy, under conditions of rising school |

and college enrolment, it paints an inaccurate |
picture. The reported unemployment rate is
dominated by the experience of younger Indians
who face higher employment challenges and
exhibit greater willingness to wait for the right
job than their older peers. The unemployment
challenge is greater for people with secondary or
higher education, and nsmg education levels

iflate unemployUPs C P R E:E.. o ol

41. Which one of th' \ ‘most
i L
likely reflects as 't q!mOllf‘/ ) the
passage intends osay?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a
function of rising education and
aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.

XDTG-S-DNK

|

frequently used measure of poor performance of W |

(23-8B)

Passage - 2

“Science by itself is not
must be a force and discipliné
sciences to coordinate them amn&
goal. It is not possible to run ai
when the goal itself has not.
placed. What science needs is Pt
the analysis of scientific m
coordination of scientific
results; without this, any sc
superficial. Government sufl€
like science, for lack @ {2
Philosophy bears to scient ,
relationship which statesmanshi
politics movement  guided
knowledge and perspective,
aimless and individual seeking
pursuit of knowledge becomes m
when divorced from the actual |
and life, so the pursuit of politi "\_‘
destructive bedlam when di
science and philosophy

),

(b)

(e)

(d)
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“to free each man from fear that he may live and

XDTG-S-DNK

Passage - 3
“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is 80

act with full security and without injury to

himself or his neighbour. The end of the state, |
repeat, is not to make rational beings into brute 1
beasts and machines. It is to enable their bodies : ‘
and their minds to function safely. It is to lead |
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,

anger dnd guile, nor act unfairly toward one
another.”

43. Based on the above passage, which one of the |
following terms best expresses the ultimate |

goal of the state ?

(a) Personal safety

(b)  Health of body a.nd mmd
(c) Communal harmony

> “tJPSCPR

What is the remainder if 2192 s divided by
6? C

(a)
(b)
(c)
(d)

4

Consider the sequence
ABC__ ABC_DABBCD_ABCD

‘ .that follows a certain pattern.
‘Which one of the following completes the
sequence ?

(a) DACB
(b) CDAB
(¢ DCCA

46.

47.

(d) DDCA

1

(25-8B)

E B%Qta

AB and CD are 2-digit numb f“
AB with CD results in a 3-dig t

Adding DEF to another 3-dig
results in 975. Further A, B * 3
are distinet digits. If E = 0, !
A +B + C equal to ? 5

(a) 6
» 7 8
(¢) 8
d 9
" Consider following sta
of five ca "-aws |
statementd*fij?e true and or
false. [
& £ 4
True Statement : One of P

Which of the follg
drawn ? 3
1. Ableadtfous
230 was select

Select the co
below :

(a)
b
()
d .

1 only
2 on
Bot
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4‘& :::tp Q. R, S and T be five statementg such
: 'r] If P is true, then both Q and S are true
If R and S are true, then T is false .
Mﬂh of the following can be concluded 9

- 1. If Tis true, then at least one of
- must be false.

‘ . IfQ is true, then P is true.
, the correct answer using the code given

P and R
@ lonly

f dimensions 7em x5 cm x 3 em is
green and blue colour on each
posite faces of dimensions
5cm x 3cm, 7cm X 3 em
Then the cuboid is cut and
) various cubes each of side
. Which of the following

e correct ?

6 small cubes with

-' t
AT IR

ect swer using ﬁfe code given

3oth 1 and 2
Neither 1 nor 2

E letters of the word

MPREHENSIBILITIES” are arranged
etically in reverse order. How many

of the letter/letters will remain
ged ?

None

One

The paradox of choice is illu8tl
story of Buridan’s ass. Jean Burk
century philosﬁher, wrote about

Changes in tec

smart phones aﬂ tablets only e
glut of choices. Constant conn "

between two m appealing sta
Unable to decide w to eat, it starve

Directions for the following 4 (f ur.

Read the following four pamged g ;
items that follow the passages. Your ansts
items should be based on the passage

Passage - 1

and mnovat1

overconsumption uf real-time data

media can leave ]iﬂ:le room for se

ER;‘CQ

Two

~ (27/

B)

51. Whmh one of the fol
reflects the most logi by
the above passage ?
(a) Modern ‘

structure an
(b) Modern lif
endless di
(¢0 We are
others
own cor
(d Ino

not k

can
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Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if) one can make the

transition between them if necessary.

52. Regarding the financi

izati of _househol
savings, i S t

best reflect the solutions that ar implied by
the passage ? _ \if

1. A flexible environment is needed to
develop solutiong,

Households need customised solutions.
Innovations in financial

technology are
required. i

Select the correct answer using the code given
below :

(@) 1and 2 only

(b) 2 and 3 only

(©)  1and 3 only
d 1,2and3
XDTG-S-DNK

53.

Passage — 3

Pharmaceutical patents grant Wmn o
the patentee for the duration of the pat&nf' -
The patentees enjoy the liberty to f‘mne fe
prices of medicines, which is tiplejliiﬂiwd to the
period of monopoly, but could be Qnaﬂﬂfdable to
the public. Such patent protecti to the
patentees is believed to benefit e public over
the longer term through innoﬁhﬁons and
research and development (R&D), although it
comes at a cost, in the nature of higher prices for
the patented medicine. The patent reg
price protection — through a legally wé
high price for the medicine during the

the patent — provide the paten
legitimate mechanism to get returns o

incurred in innovation and research.
~ Based on the above passage, :
ER.COM

! " Patéht Protection given to pate

huge burden on public’s
e

burden for developing and poor ¢
3. Providing medicines to the .
affordable Prices is a key goal d
public health policy desion ™
countries, : iE
4, Governmen& need to find
balance between the rig &
and the TeQuirements of ¢
Which of the “mve asS“mpth
(@) land2
i :
(b) 1and4
(¢)- 3 and 4 :
(d) 2 ang 3

(29-B)
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Passage - 4

India should ensure the growth of the digital
economy while keeping personal datq of citizeng
secure and protected. No one will innovate in a
surveillance-oriented environment or i, a place
where an individual’s personal informatiop, is
cqmpmmised. The ultimate contro] of data must
reside with the individuals who generate it; they
should be enabled to use, restrict Or monetise it
as they wish. Therefore, data protection lawsg
should enable the right kind of innovation — op,
that is user-centric and privacy protecting.

54.

Based on thgabove passage, the following

assumptions have%\?eq made :

1. Protection of privi Cy is not just a right,
but it has value &;}f\?hed;.ﬂ'e‘conomy.

b

In an examination, the maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
_integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

(b):; -7

) 23

(d) 35
] 31
. XDTG-S-DNK (

2. There is a fundamental link between
o HESCER

Which of the a Su pt1

(a) 1only S Wi

(b) 2only payo

(c) Bothland2

(d) Neither 1 nor 2

-B)

56. A flag has to be designed Wiﬁf“\‘.wzonta]
Stripes using some or all of ﬂl‘ms red,
green and yellow. What is '«m of
different ways in which th.lﬂ#
that ne twe adjacent s  h

colour ? \ B 'v';l

® i | v‘ﬁ
® 18 |
© 2498 by

@ 36 R

36

67. A rectangular floor measures 4

and 2-2 m jn breadth. Tiles of 3

58.

Scanned with CamScanner




There are large number of silver coins

?e@mg2gm,58m» 10 gm, 25 gm, 50 g

each. Consider the following statement, g
s :

To buy 78 gm of coins one must |

least 7 coins. N “

~use less than 7 coins.

1 only

- Zonly

- Bothland?2
Neither 1 nor 2

sider the following :
A+ B means A is neither smaller nor

UUSRSIGBP

ler than B.

R

“equal to
b A B me
A % B means A i is not smal

equal to B.

A + B means A is nelther smaller nor

U

greater than B.
Bgns -+ PREE A T, PR, RS
bugion-1: QF T
clusion-2 - S+Q
s correct in respect

of the following i
o Conclusions ?

atement and the
usion-1 follows from the

' Thich one
of the above St
Only Concl
Statement'

Only Conclusion
Statement-
Both Con¢
follow from t

9 follows from phe

lusion-l and Conclusion-2
the Statement.

1 nor

To weigh 78 gm using these coins one caé'*

ch of the statements given above 1s/are»‘

Conclu""i"n'z

Directions for the tblw 3

Read the following three passc :~
items that follow the paasage!. ‘ Y
items should be based on the passe

reflects the ost lo ca
conveyw by the au h ’

Conclusio™”
gtatement:

(33-B)
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Passage - 2

‘-’:Whﬂe awareness on use/misuge and
of antibiotics is common knowledg

; ‘ _ ge, ag
impact of dosin

" g poultry with
.-_es, the environmental impact of

companies

biotics-manufacturing _—

their waste has scarcely been

occurrence of drug-resistant bacteria

d

nding the pharma manufacturing

RS e |

“school after havmg acquired ¥

is well known.

ﬁt is necessary to put proper efﬂuent

js  necessary to- | igromote

onmental awareneas mwng people-

,,'"al

sad of drug- remstant bmrla cannot
, 88 it il.#&herent in
-
a-%?i'} '
W.a‘ﬁ
WRIL .
manufacturing gfg panies
te rural areas
d be set up 1 rem@ M
from crowded mwna \d cities
¥, (35-8)

s |

Benefits of good

accrue only when students @

knowledge econ

one of the se

strong learning
there can be no 1

or skill develop n

¥ w-,' O'J r.h.Py

<9 |
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5. What mthe middle term of the sequence

':ZIY’Y’Y’XQX) X, X, W, W,W,W,W’ -.-.,A?

oment-2: p°is greater thah ;
of the following is correct in respect

the above Question and the Statements ?

~ The Question can be answered by using
one of the Statements alone, but cannot
~ be answered using the other Statement

~ alone.
b) The Questio”
" cither Statemen® alone.

be answered by using
" The Question €2
-bothQ the Sta together, but

‘cannot be answered using eithe’

Statsment alone.

Vhich one

can be answered by using

tements

ot be answered even

The Question cann

% ‘W using both he Statements together

t

(37-8)

Is(p+q

(p—q+T1h

' integers 7 X

Slulwnpnt_l cp-q) is p ‘r

S’fuh'lmznt-Z : (p- r)is ‘

Which one of the following

of the above Question and t ?

(a) The Question can be
one of the Statements ai
be answered using the otk
alone,

(b) The Question can be answeredsgy
cither Statement alone.

(c) The Question can be answere
both the Statements tog
cannot be answered us
Statement alo:

. (d) The Question cannot be an
J by using both the Statement

)

Questiop -

In a party, 75 persons took i

stion : “ow many pers

Which one of the following i
of the above Questlon
(a) The Question can be sy

(b)

(c)

(d)
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®

i

Statement-1 : YCOui
e . the youngest. it Vil
Statement-2 : The average age of the children

: is 8 years.

:E' Which one of the following is correct in res;:ect
- of the above Question and the Statements ?

5

. Consider a 3-digit Number,

Question : What is the number ?

* Statement-1 : Ty, Sum of the digits of
Number ig equal to the pmdthe :
of the digitg, .
Statement-2 : Ty, Number is divisible by the
el Sum of the digits of the number
m one of the followmg 18 correct in regpect
of M ﬁbove Uestion ang the Statements 'fec
(a) The Question g

n be answered by using
ments alone, but cannot
ng the other Statement

The Question cap },

1 ¢ answered by usin
either Statement 5] f §

' one.
The Question cap be an
“both the Statements together,

- cannot be answereq using
Sta}en%ent alone.
The Qm%stion cannot be answered even |

by using both the Statements together.

(0
' but
either

swered by using |’

For five children with ages a < c
any two successi S 2ye
Question : 18 “the 0 ung

t
Child? L .':4 i

The Question can be answered by using
one of the Statements alone, but cannot
using the other Statement

(@

be answered
alone. |
The Question can be answered by using
either Statement alone. |

The Question can be answered by using

both the Statements t0g.ether, : but
cannot be answered using either
Statement alone.

The Question cannot be answered even

by using both the Statements together.

| 71. With reference
B TR Lt - Ny Ll
The age of the eldest is 8 times|

(39-8B)

Season. They found that warmer Win“-\ b

less snow resulted in a longer lag time between

Spring events and a more protracted we

window. This change in the spring timeta

ecological, social and economic cons
for agriculture, fisheries and tourism. :
melts earlier, the birds don’t re

delay, or lengthening in spri

EP.CO

I Ng

ilowing a8y : [

1. Global wz;.rming is gausing Sprir
early and for lon;ﬁ durations.
2. Early spring aqﬁﬁknger period
is not good for | Ppopulations.
o

g #ing

Which of the above
correct ?

is/are

b
;

assumptions

(a) 1only

(b)  2only
(¢) Both1land2

(d)  Neither 1 nor 2
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Passage -9

‘ A global analysis of nitrogen use efficiency —
fi meaéure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0'4, meaning 40 ber
cent of the total nitrogen added to cropland goes
.' into the harvested crop while 60 per cent is lost to
~ the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in

significant emissions of nitrous oxide, a potent
forms of

H P gas and other
eutrophication s Erll -

contamination of nver ;

greenhouse and

72. Which one of the ollowi :

message implied by the passage? :
An enhanced efficiency of use of mtrogen

(a)
is imperative for both food productmn b
and environment. _ }
(b) Production of synthetic n‘trogen |

fertilizers cannot be stopped as it will
adversely affect global food secuity

(¢) Alternatives to crops that reqwe excess

of nitrogen should be 1deqﬁﬁed and

cultivated.

Conventional agriculture using
¢ fertilizers should be replaced

ms and

(d)
syntheti
with agroforestry, agroecosyste

reflects the most loglcal rational and cruc1al §

organic farming.

(41-B)

-3

Pas
'hfestyles, Wte

Along with susta
Justice is regarded as
environmental par]ance

bearings on political and §

nati a 4
ion. So far, in our clim eluded
compacts, both the prlncl i

consensus among nations. Justi

cllmate chang*,Iq it has b«
socio-political e('i"imotatio
in the next feq years ; ‘
technologies anﬂ regulati ‘
te change. Justice

the victims of

1s not conﬁned !
but 1ncludes thé"

compacts/agreem

3 .'ll ‘ \
Environrm bt \
distributed ‘ .
globe.

(b)

(¢) There is &

(d)
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A Principal p b
€Comes Q in 1
Compounded hg)s. year when |77.

Yearly with Ry
of interest, If the ¢ @nnual rate

What is the sum ¢
than 2000 formed b

numbers less

its. 1, 2, 3 and 4,

A ] y o ? Y
1 Same principal P becomes @ " Where none of the di & i ted THy ki
in 1 year when “ompounded annually with S |\ () 7998 bl
annual rate of Interest, then which one of the | (b) : . ’&m (
following is Correct 9 A \ 8028 gy
L 8. © 8878 \ ok
(@) R=8S : ; LY e, 1
LB (d) 9238 { 1‘
b \ 1 ' i
® R>s 78. What is i
% 10 consecu thmg
© Rc<S ”-E" "‘ circle take ‘g e clockw
@ R<S . @
b
J”,‘..g; b)) 1

How many natural numbers are there wlneh o i
give a re er of 31 when 1186 is chwded i

by these na numbers ? ; >
(a) 6 ]

< R<:

© 8

d 9

76. Let pp, qq and rr be 2-digit numbm here
p<q<r If pp + qq + rr = tt0, wherottolsa

3-digit number ending with zero, consider the
E following statements : f?f

1. The number of possible values of pu 5

o 2. The number of posmble values of q is 6‘
':‘ Which of the above statements 1s/are correct ?

@ lonly iy @ !J

B o 2 only | . b ‘ ,
(c) Both1and2 A © 3 ‘_
(@  Neither 1 nor 2 @ © 3 |

~ XDTG-S-DNK & (43-B) f;, i
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